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1. Introduction

For almost as long as devel opers have been writing computer programs, they’ ve needed a
way for multiple programs to exchange information and work together. As computer
systems have become more sophisticated and widespread, the need to be able to integrate
individual applications into enterprise systems has grown. For example, it's no longer
enough for an accounts-receivable program to do its job well, it must also serve the
broader enterprise by working with other applications that manage payroll, order
management, shipping and receiving, and so on. Thisis a paper about how to integrate
enterprise systems using a technology called messaging. Messaging is a key technology
that helps make separate applications work together as one to serve the enterprise.

1.1 Program-to-Program Communication

The general problem of program-to-program communication has been a constant and
ongoing source of research, development and heartache amost since the dawn of the
computer age. In particular, five different ways of program integration have risen to the
forefront as the most commonly implemented solutions to this problem.

1. FileTransfer — This was the original means of program-to-program communication,
and is still the basis of many mainframe systemstoday. In it each program works on a
physical file (stored perhaps on a hard disk, a tape drive, or a stack of punched cards)
and then another program will take that file as its input and produce a new file, or
modify the file if the storage medium allows it. While this has proven effective for
solving many problems, issues of latency and resource contention have usualy made
it unattractive for today’s high-speed, high-volume applications.

2. Shared Database — Another popular mechanism derived from the File transfer
mechanism is the shared database system. In this solution database software handles
some of the resource contention issues by providing mechanisms for locking and
unlocking the data appropriately, and also provides standard mechanisms for creating,
deleting, searching and updating information. However, the latency issue remains
even in this solution — before one program can use information it must be written to a
database (a physical file) by the other program.

3. Raw Data Transfer — In this scheme different programs use a mechanism like a
network datatransfer protocol (like TCP/IP sockets) or a physical transfer mechanism
like Shared Memory to communicate information between different programs. The
drawback of this solution (which is again till used in millions of programs) is that it
requires synchronous communication — each program must wait on the other to
complete its request before processing aresponse. While it is possible to temporally
disconnect the systems, this involves adding significant complexity to the overall
system, and involves programming issues that few programmers are competent to
deal with —for instance, it is up to the programmer to decide how to guarantee that a
message is properly sent and received; the developer must provide retry logic to
handle all the cases where the network link is severed, or the request or response was
lost in transmission.
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4. RPC -The RPC (Remote Procedure Call) mechanism is away of reducing the
complexity of the Raw Data Transfer approach by wrapping the network protocols
within alayer of code libraries such that it appears to the calling and called programs
that a normal procedure call had taken place. Again, RPC is extremely popular, and is
the basis of modern systems like CORBA, RMI and EJB. However, the basic issues
of synchronicity and guaranteed delivery still remain.

5. Messaging — Messaging provides high-speed, asynchronous, program-to-program
communication with guaranteed delivery. This particular solution is often
implemented as a layer of software called Message Oriented Middleware (MOM).
The design of systems to use messaging is the subject of this set of patterns.

As compared to the other four communication mechanisms, relatively few developers
have had exposure to messaging and MOM'’s, and developers in general are not familiar
with the idioms and peculiarities of this communications platform. As a result, we have
seen many programmers try to use messaging in an inappropriate way, or to develop
systems that do not take advantage of the capabilities and strengths of messaging.

1.2 Messaging Systems (MOMS)

A simple way to understand what messaging does is to consider voice mail (aswell as
answering machines) for phone calls. Before voice mail, when someone called, if the
receiver could not answer, the caller hung up and had to call back later to see if the
receiver would answer at that time. With voice mail, when the receiver does not answer,
the caller can leave him a message; later the receiver (at his convenience) can listen to the
messages queued in his mailbox. Voice mail enables the caller to leave a message now so
that the receiver can listen to it later, which is often alot easier than trying to get the
caller and the receiver on the phone at the same time. Voice mail bundles (at least part of)
a phone call into a message and queues it for later; thisis essentially how messaging
works.

In enterprise computing, messaging makes communication between processes reliable,
even when the processes and the connection between them are not so reliable. There are
two reasons processes may need to communicate:

1. One process has data that needs to be transmitted to another process.
2. One process needs to remotely invoke a procedure in another process.
There are two main defacto messaging standards for enterprise computing:

1. The Java 2 Platform, Enterprise Edition (J2EE) includes the Java M essage Service
APl (IMS). [IMS-1]

2. The Microsoft .NET Framework SDK (.NET) includes the Syst em Messagi ng
namespace for accessing MSMQ (see below). [NET-1]

There are a number of products available for embedding messaging into and between
applications:

1. One of the oldest and best-known messaging productsis IBM’s MQSeries.
[MQS-1] Its Java client implements the IMS API. [MQS-3]
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2. Besides MQSeries, many other products implement the IMS API. [IMS-2]

3. Microsoft’s messaging product is Microsoft Message Queuing (MSMQ), which is
built into Windows 2000 and later releases. [MSMQ-1]

1.3 Patterns for Messaging

The patterns in this pattern language describe some of the fundamental decisions that go
into architecting a system to use messaging. The pattern language is split into three
sections:

1. Message Channel Patterns describe those patterns that are implemented by most
commercial messaging systems; they describe the fundamental attributes of a
messaging system, and describe how the different features interrelate. Not all
MOM systems implement all of these patterns, however, these patterns all share
the same level of abstraction in that they are more “infrastructural” than
application-level.

2. Message Patterns describe those patterns that describe the form and content of the
messages that the messaging systems carry. Some of these patterns may be
features implemented by a messaging system, while others refer to generic
message formats that implementers of a messaging system will implement.

3. Messaging Application Patterns describes those patterns that are used by systems
designers in architecting messaging systems. Commercial “add-on” products for
messaging systems implement many of them, but just as often developers building
their own software using messaging systems implement them.
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2. Message Channel Patterns

The central pattern in our pattern language is Messaging, which describes a technique
programs can use to reliably exchange information under unreliable circumstances.
Messaging comes in two forms: Point-to-Point, which transmits a message that should
only be consumed once by one consumer; and Publish-Subscribe, which transmits copies
of amessage to al interested consumers. Data Type Channel shows how a sender can
transmit different types of data to areceiver such that the receiver will know what each
type' s datais. When a single channel may carry several types of messages, a Message
Selector can be used to find only those messages that meet specific criteria. Finally, a
Malformed Message Channel allows sets of communicating programs to gracefully
handle messages that are incorrectly formed or misdirected.

Messaging
My application is distributed among separate processes that communicate via remote

procedure calls (RPC’s). However, RPC’s sometimes fail because of communication
problems between the processes.

How can we communicate between programs reliably even when neither the
network nor thereceiver arereliable?

The simplicity of RPC’sis that they’re synchronous; a call happens all at once, the caller
blocking while the receiver processes. But thisis also the shortcoming of an RPC; if
anything goes wrong, the whole thing fails. What might go wrong? An RPC consists of
three participants, the caller process, the receiving process, and the network connecting
the two processes (see Figure 1: Successful RPC).

doSomething(*12345") ’ | void doSomething(String uid) {
..}

doSomething(* 12345")

-
 —
% ——
(( —

Figure 1: Successful RPC

All three participants have to be working properly, and all at the same time, for the RPC
to work and invoke the procedure remotely. When the caller is ready to make the call, the
receiver may not be ready (or able) to respond or the network may not be functioning
reliably. If anything goes wrong, the RPC fails and is therefore not reliable (see Figure 2:
RPC problems).
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doSomething(“12345") | Ladeda...

doSomething(“12345”) >
I I I I
(— : —
RemoteException! 2!

Figure 2: RPC problems

The caller can try to make up for an unreliable RPC by using a retry loop. Whenever an
RPC fails, the caller retries it until it works. However, continuoudly retrying a call that
has aready failed repeatedly quickly becomes futile. After some number of retries,
perhaps the caller should pause for a while before retrying again, in hopes that the
problem will be fixed during the pause. But how will the source remember what RPC to
try after the pause? It will need to somehow queue up the RPC, and then retry the queued
RPC’s periodically. And still, no matter how many times the caller pauses and retries the
RPC, the call will only work if the caller, network, and receiver are all working when the
cal is made.

What if the call could be made even when the network and/or the receiver were not
ready? Instead of queuing the RPC on the caller and retrying it repeatedly, what if the
gueued RPC call could be moved to the receiver and retried locally? This would make the
call asynchronous, in that the caller would not know when the call actually got invoked
on the receiver, just that it would happen eventually. The advantage would be that the call
could be queued when the caller was ready, moved from the caller to the receiver when
the network was ready, and invoked on the receiver when it was ready, even if the three
parts were never ready at the same time.

Therefore:

Use messaging to make intra-program communication reliable, even when
the network and the receiver program cannot berelied upon.

By packaging the call as a message, the caller can queue the call to be delivered to and
invoked on the receiver as soon as possible, whenever that may be. If delivery fails, it can
be retried until it succeeds (or times out). Thisisillustrated in Figure 3: Queued
communication
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— \/doSomething
I | |/ —

= |:> doSomething —L

i . doSomething > I I

—
L~

(O ————— —
I =

Figure 3: Queued communication

When an application uses messaging, the communication between the processes is made
more reliable, and in addition, programs do not have to pause (or hang, thus occupying
processor time in a useless “wait” loop) nor have to repeatedly call the receiver, again a
futile and time-wasting exercise when either the network or receiver process are not
ready. However, in this situation, the program will have to become a bit more complex.
More importantly, the program may have to deal with asynchronicity, since the time
between the original message transmission and reply receipt may be quite long — too long
to wait for in a*“busy loop”.

Although you could probably write your own messaging system, there are many
commercia ones already available. One of the oldest and best-known messaging products
isIBM’s MQSeries. Many messaging products (including the MQSeries Java client)
implement the Java Message Service API (IMS). The .NET SDK contains the

Syst em Messagi ng namespace, which provides access to Microsoft Message Queuing
(MSMQ), the messaging product built into Windows.

JMSS provides two modes for messaging, persistent and non-persistent. A message sent
persistently receives the highest quality of service. When a persistent message is sent, the
send action is not complete until the messaging system has stored the message in a non-
volatile store (e.g., a database) so that the message will survive even if the messaging
system crashes. Likewise, the messaging system must deliver a persistent message once
and only once. The messaging system uses transactions internally to ensure this behavior
(even if aclient session is non-transactional). These persistent transactions will, of
course, hurt performance, but are necessary overhead for reliable messaging. T his paper
assumes that messages ar e sent persistently, thus ensuring the greatest level of
reliability.
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There are two distinct approaches for callers to send messages to receivers. Point-to-
Point and Publish-Subscribe. Either way, the caller will need to package the
communication as a Command Message, Document Message, or Event Message. To
implement a full remote procedure call, one that returns aresult or at least notifies the
caller when the call has completed successfully, the receiver will have to send the caller a
Reply Message. If a message’s transmission retries for too long without transmitting
successfully, it may time out because of its Message Expiration.

Point-to-Point

My application is using Messaging to make remote procedure calls (RPC'’s) or transfer
documents.

How can the caller be surethat only onereceiver will receive the document
or perform the call?

One advantage of an RPC is that it's invoked on a single remote process, so either that
receiver performs the procedure or it does not (and an exception occurs). And since the
receiver was only called once, it only performs the procedure once. But with messaging,
once acall is packaged as a message and placed on a channel, potentially many receivers
could see it on the channel and decide to perform the procedure.

The messaging system could prevent more than one receiver from monitoring a single
channel, but this would unnecessarily limit callers that wish to transmit data to multiple
receivers. All of the receivers on a channel could coordinate to ensure that only one of
them actually performs the procedure, but that would be complex, create alot of
communications overhead, and generally increase the coupling between otherwise
independent receivers. Multiple receivers on a single channel may be desirable so that
multiple messages can be consumed concurrently, but any one receiver should consume
any single message.

Therefore:

Configure the channel to use point-to-point messaging, which ensures that
only one receiver will receive a particular message.

A point-to-point channel ensures that only one receiver consumes any given message. If
the channel has multiple receivers, only one of them can successfully consume a
particular message. If multiple receivers try to consume a single message, the channel
ensures that only one of them succeeds, so the receivers do not have to coordinate with
each other. The channel can still have multiple receivers to consume multiple messages
concurrently, but only a single receiver consumes any one message.
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‘ Process Purchase Order for chocolate bunnies...

~

)ELG Licoriée Gummi Worms Bunnies
i — =
=

Send Purchase Order for chocolate bunnies,
Send Purchase Order for gummi bears,
Send Purchase Order for licorice

Figure4: Point to Point connection

In IMS, a point-to-point channel implements the Queue interface. In .NET, the -
MessageQueue class implements a point-to-point channel. MSMQ, which implements
NET messaging, only supported point-to-point messaging prior to version 3.0, so point-
to-point iswhat .NET supports.

In a stock trading system, the request to make a particular trade is a message that should
be consumed and performed by exactly one receiver, so the message should be placed on
a point-to-point channel.

To implement an RPC using messaging, use a pair of point-to-point channels, one
channel for the call message a reverse channel for a Reply Message. The call isa
Command Message whereas the reply is a Document Message.

Publish-Subscribe
My application is using Messaging to communicate events.

How can the sender broadcast an event to all interested receiver s?

Luckily, there are well-established patterns for implementing broadcasting. The Observer
pattern [GHJIV 95] describes the need to decouple observers from their subject so that the
subject can easily provide event notification to all interested observers no matter how
many observers there are (even none). The Publisher-Subscriber pattern [BMRSS95]
expands upon Observer by adding the notion of an event channel for communicating
event notifications.

That’ s the theory, but how does it work with messaging? The event can be packaged as a
message so that messaging will reliably communicate the event to the observers
(subscribers). Then the event channel is a messaging channel. But how will a messaging
channel properly communicate the event to all of the subscribers?
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Each subscriber needs to be notified of a particular event once, but should not be notified
repeatedly of the same event. The event cannot be considered consumed until all of the
subscribers have been notified. But once al of the subscribers have been notified, the
event can be considered consumed and should disappear from the channel. Y et having the
subscribers coordinate to determine when a message is consumed violates the decoupling
of the observer pattern. Concurrent consumers should not be considered to compete, but
should be able to share the event message, but only so long as the consumers are not
somehow part of the same subscriber.

Therefore:

Configurethe channel to use publish-subscribe messaging, which sends a
copy of a particular message to each receiver.

A publish-subscribe channel works like this: It has one input channel that splits into
multiple output channels (ak.a., event channels), one for each subscriber. When an event
is published into the channel, the publisher-subscriber consumes the input message by
placing a copy of the message into each of the event channels. Each event channel has
only one subscriber, which is only allowed to consume a message once. In this way, each
subscriber only gets the message once and consumed copies disappear from their
channels.

Address
changed

iy

Figure5: Publish-Subscribe communication

In IMS, a publish-subscribe channel implements the Topi ¢ interface. The sender uses a
Topi cPubl i sher to send messages, each receiver usesits own Topi cSubscri ber to
receive messages. A subscription can be durable or non-durable—the difference is what
the messaging system does with messages received while a subscriber does not have an
open connection. With a durable subscription, when the subscriber does not have an open
connection, the messaging system will queue messages until the subscriber reads them.
With a non-durable subscription, if the messaging system has messages for the subscriber
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but the subscriber does not have an open connection for retrieving them, the messaging
system will throw away that subscriber’s copies of the messages. This paper assumes
that subscribersare durable, thus ensuring the greatest level of reliability.

MSMQ 3.0 adds what it calls a* one-to-many messaging model,” which has two different
approaches:

1. Real-Time Messaging Multicast — This most closely matches publish-subscribe,
but its implementation is entirely dependent on IP multicasting via the Pragmatic
General Multicast (PGM) protocol.

2. Distribution Lists and Multiple-Element Format Names — A Distribution List
enables the sender to explicitly send a message to alist of receivers (but this
violates the spirit of the Observer pattern). A Multiple-Element Format Nameisa
symbolic channel specifier that dynamically maps to multiple real channels,
which is more the spirit of the publish-subscribe pattern but still forces the sender
to choose between real and not-so-real channels. [MSMQ-3]

In a stock trading system, many systems may need to be notified of the completion of a
trade, so make them all subscribers of a publish-subscribe channel that publishes trade
completions.

An event on a publish-subscribe channel is often an Event Message because multiple
dependents are often interested in an event. If a subscriber wishes to acknowledge a
notification, it can send a Reply Message back to the publisher (probably via a Point-to-
Point channel).

Data Type Channel

My application is using Messaging to transfer different types of data, such as different
types of documents.

How can | transmit a data item such that the receiver will know how to
processit?

The message contains data—a document of some kind—so obvioudly it’s a Document
Message. But there can be different types of data. If the receiver does not know what type
of datait’s receiving, it must test the data, using a case statement (which is inflexible and
error-prone).
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Send Purchase Order, What am | supposed to do with
Send Price Quote, this????
Send Query

Query) Price Quote Purchase Order—j
= =
=l

Figure6: Mixed Data Types

The sender knows what type of data it’s sending, so how can this be communicated to the
receiver? The sender could put aflag in the message’'s header, but then the receiver will
need a case statement again. The sender could wrap the datain a Command Message with
adifferent command for each type of data, but that presumes to tell the receiver what to
do with the data when all that the message is trying to do is transmit the data to the
receiver.

A principle of messaging is that all of the messages on a channel must be of the same
type. That way the receivers always know what to expect. Here the problem is that
messages of different types are being sent on a single channel.

Therefore:

Use a separ atedata type channel for each data type, so that all data on a
particular channel is of the sametype.

That way, al of the document messages on a given channel will contain the same type of
data. The sender, knowing what type the datais, will need to select the appropriate
channel to send it on. The receiver, knowing what channel the data was received on, will
know what its typeiis.
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Send Purchase Order, Send Price Quote, Send Query

@s must be a Purchase Order...processit!

Purchase Order Queue

Vs
% k> Purchase Order %—r, -

—\

Price Quote Queue

Price Quote

Query Queue

)
=1

Figure7: Data Type Channels

The message till looks like a document message, just that there are now multiple
channels for these document messages, one for each data type. For example, the sender
may need to transmit several types of documents to the receiver, such as. purchase order,
price quote, and query. Thus the sender and receiver would need three channels for
transmission: a purchase order channel, a price quote channel, and a query channel. If the
sender needs to transmit a query, it must use the query channel. When the receiver gets a
message on the query channel, it will know the message data is a query.

An application may need to transmit many different data types, too many to create a
separate Data Type Channel for each. In this case, multiple data types can share asingle
channel by using a different Message Selector for each type. This makes a single channel
act like multiple data type channels.

Malformed Message Channel
My application is using Messaging to communicate between processes.

How can a messaging receiver gracefully handle recelving a message that
makes no sense?

In theory, everything on a message channel is just a message and message receivers just
process messages. However, the fact is that recelvers and message formats are
customized for their part of the application, so each receiver must make a lot of
assumptions about the content of the messagesit’s processing. While it would be nice to
06/21/02 10:49 AM 12 /59
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assume that no sender would ever put a message on a channel with an incorrect format,
the fact is that things can go wrong. As long as a valid message object is addressed to a
valid channel, the messaging system will pass the message through, so the receiver needs
to be prepared to defend itself against improperly formatted messages.

Worse, a malicious sender could purposely send badly formatted messages. Or a
completely separate sender could decide to start using an existing channel for its own
purposes, transmitting messages of a different format. Most messaging systems do not
provide security features to control which senders and receivers can access which
channels.

For areceiver to get its bearings on what to do with a message, it has to look for certain
expected flags in the header, has to determine the message body’ s sub-type (bytes, text,
etc.) and usually will perform some initial parsing of the body’s data. Any of this can go
wrong if the message format is not valid. This leads to alot of if-then-else code in the
receiver: if the message has some expected feature, then use that feature, however, if the
feature is not there, then the resulting exception must be handled.

When the receiver finds that a message format isinvalid, it could put the message back
on the channel, but then the message will just be re-consumed by the receiver or another
like it. The receiver could ignore messages without a valid message selector, but the
ignored messages will clutter the channel and hurt performance, and this still does not
help the receiver handle a message with a valid message selector but some other
formatting problem. The receiver could just ignore the badly formatted message,
consuming it from the queue but then throwing it away, but this could cause serious
problems with the messaging to go undetected. What the system needsis away to clean
malformed messages out of channels and put them somewhere out of the way, yet a place
where these malformed messages can be detected to diagnose problems with the
messaging system.

Therefore:

Create a malformed message channel so that when a receiver discoversa
badly formatted message, it can put that message on the malformed channel.

The malformed channel will not be used for normal, successful communication, so its
being cluttered with malformed messages will not be a problem. An error handler that
wants to diagnose malformed messages can use a receiver on the malformed channel to
detect messages as they become available.
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EVhat’ sa Pszexypk?\rJ

A Request Queue

O =
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Figure 8: Malformed M essage Processing

For example, if areceiver reads what is supposed to be atext message but finds that it's a
byte message, it can put the message on the malformed channel. If a message is supposed
to have a header flag such as a Correlation Identifier, Message Sequence identifiers,
Reply Channel, etc., but the message is missing the flag, the receiver can move the
message to the malformed channel.

In IMS, the specification suggests that if a MessageLi st ener gets amessage it cannot
process, a well-behaved listener should divert the message to “to some form of
application-specific ‘unprocessable message’ destination.” [IMS02, p. 69] This
unprocessable message destination is a maformed message channel.

Messaging systems have a similar concept called “ dead message queue” [MHCO1, p.

125] or “dead-letter queue.” [IBMOO, p. 57], [MSMQ-2] The messaging system considers
amessage dead when it cannot be delivered properly; reasons include a message whose
destination channel no longer exists, a message that expires, etc. Whereas dead messages
cannot be delivered successfully by the messaging system, malformed messages are
delivered successfully, but the receiver considers them malformed. Thus the messaging
system can route dead messages to the error queue automatically, but receivers of
malformed messages must manually add them to the error queue.
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3. Message Patterns

These patterns describe the form and format of messages that flow between parts of a
system built with a messaging system. A Command Message enables procedure call
semantics to be executed in a messaging system. A Document Message enables a
messaging system to transport a document or information, such as the information that
should be returned to a sender as a result of a command message. An Event Message uses
messaging to perform event notification. A Reply Message handles the semantics of
remote procedure call results, which require the ability to handle both successful and
unsuccessful outcomes. A Reply Specifier enables a program making a request to identify
the channel on which areply should be sent. A Correlation Identifier enables a
requesting program to associate a specific response with its request. When the data to be
conveyed may span several messages, a Message Sequence enables the receiver to
accurately reconstruct the original data. Message Expiration enables a sender to set a
deadline by which the message should either be delivered or ignored. Finally, Message
Throttle enables areceiver to control the rate at which it consumes messages.

Command Message
My application is using Messaging to make remote procedure calls (RPC’s).
How can a remote procedure be called as a message?

Luckily, there’'s a well-established pattern for how to encapsulate a request as an object.
The Command pattern [ GHJV 95] shows how to turn a request into an object that can be
stored and passed around. If this object were a message, then it could be stored in and
passed around through a messaging channel. Likewise, the command's state (if any) can
be stored in the message' s state.

Therefore:

Use a command message to package an RPC as a message that can be placed
on a channel.

There is no specific message type for commands; a command message is simply a regular
message that happens to contain a command. In IMS, the command message could be
any type of message; examples include an Gbj ect Message containing a

Seri al i zabl e command object, a Text Message containing the command in XML
form, etc. In .NET, acommand message is a Message with a command stored init. A
Simple Object Access Protocol (SOAP) request is a command message.

For example, the SOAP protocol [SOAP-1] has a convention that the body of a SOAP
request message consists of an XML element that corresponds to the name of a method
that should be invoked on the receiving end. Likewise this element will contain a set of
other elements that correspond to the parameters of this remote method. An example of
thisis shown below:
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<SOAP- ENV: Envel ope
xm ns: SOAP- ENV=
"http://ww. w3. org/ 2001/ 06/ soap- envel ope”
SOAP- ENV: encodi ngSt yl e=
"http://ww.w3. org/ 2001/ 06/ soap- encodi ng" >
<SOAP- ENV: Body>
<m Get ExchangeRat e xm ns: m=" Currencyl sUsURI " >
<count ry1>USA</ countryl>
<count ry2>Japan</ country2>
</ m Get ExchangeRat e>
</ SOAP- ENV: Body>

</ SOAP- ENV: Envel ope>

Command messages are usually sent Point-to-Point so that each command will only be
consumed and invoked once. A true RPC not only invokes the procedure but also returns
aresult, so acommand message often has a matching Reply Message that is a Document
Message containing the procedure’ s result or any exceptions.

Document Message
My application is using Messaging to communicate between processes.

How can messaging be used to transfer a document from one process to
another?

Thisisaclassic problem in distributed processing: One process has data another one
needs. An RPC can be used to send the data, but then the caller is also telling the
receiver—uvia the procedure being invoked—what to do with the data. Likewise, a
Command Message would transfer the data, but would be overly specific about what the
receiver should do with the data.

Y et we do want to use messaging to transfer the data. Messaging is more reliable than an
RPC. Paint-to-Point messaging can be used to make sure that only one receiver gets the
data (no duplication), or Publish-Subscribe messaging can be used to make sure that any
receiver who wants the data gets a copy of it. So the trick is to take advantage of
messaging without making the message too much likean RPC.

Therefore:

Use a document message to reliably transfer a document between two
processes.

Whereas a command message is like an RPC, a document message is like asingle
parameter of an RPC, a single unit of data (which may in turn contain smaller units of
data). Whereas an RPC and command message tells the receiver what to do, a document
message just transfers a unit of data to the receiver without telling the receiver what to do
with it.

To the messaging system, a document message looks just like a command message;
they’re both just packets of data being sent through a messaging channel. In IMS, the

document message may be an Obj ect Message containingaSeri al i zabl e data object
for the document, or it may be a Text Message containing the datain XML form. In
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NET, a document message is a Message with the data stored in it. A Simple Object
Access Protocol (SOAP) reply message is a document message.

The following example (drawn from the example XML schema in [Graham]) shows how
asimple purchase order can be represented as XML and sent as a message using JIMS.

/1 Assunme that we have obtained a Session (session)
/1 and a Destination (dest) from JNDI | ookups

/I Create a sender
MessagePr oducer sender = session. createProducer(dest);

String purchaseOrder =
' <po id=\"48881\" submitted=\"2002-04-23\">
<shi pTo>
<conpany>Chocohol i cs</ conpany>
<street>2112 North Street</street>
<city>Cary</city>
<st at e>NC</ st at e>
<post al Code>27522</ post al Code>
</ shi pTo>
<or der >
<item sku=\"22211\" quantity=\"40\">
<descri pti on>Bunny, Dark Chocol ate, Large</description>
<litenmp
</ order >
</ po>";
Text Message nessage = session. creat eText Message() ;
nmessage. set Text (purchaseOrder);

/1 Send the nmessage
sender . send( message) ;

Document messages are usually sent Point-to-Point to move the document from one
process to another without duplicating it. A document message can be broadcast via
Publish-Subscribe, but this creates multiple copies of the document that probably need to
be read-only. A Reply Message is usually a document message—the result is intended for
asingle recelver and should not be ignored—where the result value is the document.
When the “document” is a transient one describing an event, that’s an Event Message.

Event Message
My application is using Messaging to communicate between processes.

How can messaging be used to communicate events from one process to
another?

An event is a specia kind of data. It's not a document with alifetime in the sender
process or the receiver. It exists just long enough for a subject to tell its observer what
just happened (a la the Observer pattern [GHJV 95]). Once the subject sends the event, it
does not need the data anymore; once the observer receives and processes the event, it
does not need the data anymore either. So this data is not a document to be read,
modified, passed around, and saved for future use, it’s just a notification. Also, unlike a
document, an event can often be ignored, such as when the observer is too busy to
process the event.
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In the Observer pattern, a subject notifies an observer of an event by calling the
observer’'sNot i fy() method. Yet if the observer isin adifferent process from the
subject, this cal isan RPC that may not be reliable. Messaging is a good way to make
RPC'sreliable.

Therefore:
Use an event message for reliable event notification between processes.

When a subject has an event to announce, it will create an event object, wrap itin a
message, and put it on a channel. The observer will receive the event message, get the
event, and process it. Messaging does not change the event notification, just makes sure
that the notification gets to the observer.

In Java, an event can be an object or data such asan XML document. Thus they can be
transmitted through IMS as an Obj ect Message, Text Message, etc. In .NET, an event
message is aMessage with the event stored in it.

There is usually no reason to limit an event message to a single receiver via Point-to-
Point; the message is usually broadcast via Publish-Subscribe so that al interested
processes receive notification. Whereas a Document Message needs to be consumed so
that the document is not lost, areceiver of event messages can often ignore the messages
when it’s too busy to process them. Event message is a key part of implementing the
Observer pattern using messaging; the complete design will be discussed in another
chapter.

Reply Message

My application is using Messaging, specifically Command Messages, to make remote
procedure calls (RPC's).

How does a caller get the result of a command message?

As explained in the Messaging pattern, an RPC is a synchronous call, so the caller blocks
while the receiver runs the procedure. When the procedure finishes, its result is returned
back to the caller. Messaging makes the call asynchronous, so the caller does not know
when the receiver invokes the procedure, much less when the procedure finishes or what
the result was. Y et even with messaging, the caller may still need to know when the
procedure finishes, what the result value was, or what exception occurred.

The caller could somehow block synchronously waiting for the result, but that does not
magically make the result travel back from the receiver. The caller might be able to use
the messaging system in some synchronous way to block on sending the message until
the receiver consumes the message, but that just tells the caller when the message was
consumed, not what the procedure’' s result was. The receiver could add the result to the
caller’s message, but the caller will never see that because it does not consume the
message, the receiver does. The caller could try to consume the message looking for a
result, but then the caller is consuming its own messages, which is chaotic for the
messaging system and will probably prevent the receiver from ever actualy receiving the

message.
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Y et there must be some way for the caller to get the procedure s result. Thisis the
problem that a Document Message solves: The receiver has data—the procedure result—
that the caller needs. So do not try to add the result to the original message. Send the
result back using a whole new message just for this purpose.

Therefore:

Thereceiver should use a reply message to send the procedur e sresult back
tothecaller.

The result is just data, so the reply message will be a document message. Reply messages
can also be used to transmit events back to the caller, such as acknowledging receipt of
the original message, but the idea of any reply message isthat it’s closely associated one-
to-one with a previous request message from the caller.

Process the request

Send the repl
Reguest Queue Py

C N e
N ZERN
Reply Queue : .

/ék\( ) =l

N

Figure9: A receiver sending areply

When a reply message indicates the result of a procedure call, it can be thought of as a
“result message.” In an object-oriented environment, a“ procedure” (remote or otherwise)
is really a message invocation, which can result in one of three ways:

1. Returnsvoi d — Simply notifies the caller that the message has finished so that the
caller can stop blocking.

2. Returnsavalue — A single object the message uses as its result.

. Returns (throws) an exception — A single exception object indicating that the
message aborted before completing successfully; also indicates why.

Since these are the three things a message result can do, they’ re the three things a result
message must be able to contain. The message must indicate success or failure, so there
are two types of result messages, organized like this:

1. Success

a. Returnsvoi d — Tdlsthe caller that the message has finished and that it
executed successfully.

b. Returnsavalue— Tellsthe caller that the message has finished, that it
executed successfully, and that this value was the result.
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2. Failure

a. Returns (throws) an exception — Tells the caller that the message has finished,
but not successfully, and why it failed.

Note that the SOAP specification [SOAP-1] describes one particular implementation of
this pattern, in that it shows how when SOAP is used to implement an RPC that the
results returned can either be a call response message (which may or may not contain a
return value), or a SOAP Fault, which corresponds to the failure scenario.

JMS provides for a variation of this pattern using atemporary queue. The requestor uses
its IMS connection to create a temporary queue and sets that as the JMSRepl yTo
property of the request message (see Reply Specifier). The replier obtains access to the
temporary queue from the request message and sends the reply to that queue. [MHCO1,
pp. 67-69] This offers a certain level of security in that only a consumer of the request
can possibly send a message on the reply queue. However, this technique is not always
reliable, because atemporary queue can only provide non-persistent messaging. The
temporary queue's lifetime ends when the connection that created it closes, so if the
requestor and its connection crash, all reply messages will be lost and no new ones can be
sent. (The messaging system may put such lost messages in a dead |etter queue; see
Malformed Message Channel.) Thus, to transmit replies reliably, a permanent queue with
persistent messaging is more appropriate.

The caller may wish to indicate a Reply Specifier in its request message so the receiver
will know where to send the reply. A reply message may need a Correlation Identifier to
identify the original request it’s replying to.

Reply Specifier

My application is using Messaging to send a request message for which it expects a Reply
Message.

How doestherecever of aregquest message know where to send thereply
message?

Messages are often thought of as completely independent, such that any sender sends a
message on any channel whenever it likes. However, messages are often associated, such
as request-reply pairs, two messages which appear independent but where the reply
message has a one-to-one correspondence with the request message that caused it. Thus
the receiver that processes the request message cannot smply send the reply message on
any channdl it wants, it must send it on the channel the caller expects the reply on.

Each receiver could automatically know which channel to send replies on, but hard
coding such assumptions makes the software less flexible and more difficult to maintain.
Furthermore, a single receiver could be processing calls from several different callers, so
the caller it should reply to is the one that sent the request.
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Now where does this
Reply Go?
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Figure 10: Unsure whereto send thereply

A caller potentially may not want areply sent back to itself. Rather, it may have an
associated callback processor to process replies, and the callback processor may monitor
adifferent channel than the caller does. The caller could have multiple callback
processors such that replies for different requests from the same caller should be sent to
different processors.

The reply channel will not necessarily transmit replies back to the caller; it will transmit
them to whomever the caller wants to process the replies, because it’s listening to the
channel the caller specified. So knowing what caller sent arequest or what channel it was
sent on does not necessarily tell the receiver what channel to send the reply on. Evenif it
did, the receiver would still have to infer which reply channel to use for a particular caller
or request channel. It's easier for the request to explicitly specify which reply channel to
use.

What is needed is away for the caler to tell the receiver where and how to send areply
back.

Therefore:

Therequest message should contain a reply specifier that indicateswhereto
send the reply message.

This way, the receiver does not need to know where to send the reply, it can just ask the
request. If different messages to the same receiver require replies to different places, the
receiver knows where to send the reply for each request. This encapsulates the knowledge
of what channels to use for requests and replies within the caller so those decisions do not
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have to be hard coded within the receiver. A reply specifier is put in the header of a
message because it’s not part of the data being transmitted.

The Request tells me where to send the Reply.
Now | know where the Reply goes...

A Request Queue
<

—_— Re<>uest (Reply-to-A-Reply-Q)

A Reply Queue

Client A

Reply

B Request Queue

——
Client B

Figure 11: Using Reply Specifier

A message' s reply specifier is analogous to the reply-to field in an e-mail message. The
reply-to e-mail address is usually the same as the from address, but the sender can set it to
adifferent address to receive replies in a different account than the one used to send the

origina message.

JMS messages have a predefined property for reply specifiers, JIMSRepl yTo. Itstypeisa
Dest i nati on (aTopi c or Queue), rather than just a string for the destination name,
which ensures that the destination (e.g., channel) redlly exists, at least when the request is
sent.

A sender that wishes to specify areply channel that is a queue would do so like this:

Queue request Queue = // Specify the request destination
Queue replyQueue = // Specify the reply destination
Message request Message = // Create the request nmessage
request Message. set JMSRepl yTo(r epl yQueue) ;
MessagePr oducer request Sender =

sessi on. creat eProducer (request Queue) ;
request Sender. send(request Message) ;

Then the receiver would send the reply message like this:
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Queue request Queue = // Specify the request destination
MessageConsumer request Receiver =

sessi on. cr eat eConsuner (request Queue) ;
Message request Message = request Recei ver.receive();
Message repl yMessage = // Create the reply nessageDesti nation
repl yQueue = request Message. get IMSRepl yTo();
MessagePr oducer replySender = session.createProducer(repl yQueue);
repl ySender. send(repl yMessage) ;

NET messages also have a predefined property for reply specifiers, ResponseQueue.
ItstypeisaMessageQueue, the queue that the application should send a response
message to.

When the reply message is sent back the channel indicated by the reply specifier, it may
also need a Correlation Identifier. The reply specifier tells the receiver what channel to
put the reply message on; the correlation identifier tells the sender which request areply
isfor.

Correlation Identifier
My application has received a Reply Message.

How does a sender that has received a reply know which request thisisthe
reply for?

When one process invokes another via a Remote Procedure Call (RPC), the call is
synchronous, so there is no confusion about which call produced a given result. But
messaging is asynchronous, so from the caller’s point of view, it makes the call, then
sometime later a result appears. The caller may not even remember making the request,
or may have made so many that it no longer knows which one this is the result for. With
confusion like this, when the caller finaly gets the result, it may not know what to do
with it, which sort of defeats the purpose of making the call in the first place.

Which Request was this reply for?

Request Queue
O =l
—

Reply Quese —

e
J

There are a couple of techniques the caller can use to avoid this confusion. It can make
just one call at atime, waiting for areply before sending another request. This will

Figure12
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greatly slow the messaging process, however. The call could assume that it’' |l receive
replies in the same order it sent requests, but messaging does not guarantee what order
messages are delivered in and all requests may not take the same amount of time to
process, so the caller’s assumption would be faulty. The caller could design its requests
such that they do not need replies, but this constraint would make messaging useless for
many purposes.

What the caller needs is for the reply message to have a pointer or reference to the
request message, but messages do not exist in a stable memory space such that they can
be referenced by variables. However, a message could have some sort of foreign key, a
unique identifier like arow in arelational database table. Such a unique identifier could
be used to identify the message from other messages, clients that use the message, €tc.

A full-blown unique identifier generator gets rather complex, making sure that identical
identifiers are not generated simultaneoudly, guaranteeing that each identifier is unique
forever and ever, etc. Reply messages can get by with something simpler. The caller just
needs to ensure that of all the requests it has outstanding at any given time, each of them
has a different identifier. This identifier may not be unique forever and ever, or for all
contexts of all messagesin al channels in the system, but just unique enough to identify
which outstanding request this reply is for.

Therefore:

Each reply message should contain a correlation identifier, a uniqueidentifier
that indicates which request message thisreply isfor.

Thisis how a correlation identifier works. When the caller creates a request message, it
assigns the request an identifier that is different from those for all other currently
outstanding requests (e.g., requests that do not yet have replies). When the receiver
processes the request, it saves the identifier and adds the request’ s identifier to the reply.
When the caller processes the reply, it uses the request identifier to know which request
the reply isfor. Thisis called a correlation identifier because of the way the caller uses
the identifier to correlate (e.g., match; show the relationship) each reply to the request
that caused it.
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OK —thisisthereply for Request 1!

Request Queue
o
ﬁ Request(2) Request(1)
- =l
Reply Queue

) Reply(1)

Figure13

A correlation identifier is usually put in the header of a message rather than the body. The
ID is not part of the command or data the caller is trying to communicate to the receiver.
In fact, the receiver does not really use the ID at al; it just saves the ID from the request
and adds it to the reply for the caller’ s benefit. Since the message body is the content
being transmitted between the two systems, and the ID is not part of that, the ID goesin
the header.

In practice, the application needs not only to relate areply back to its request, but back to
some business activity that caused the request in the first place. That business activity,
such as needing to execute a stock trade or ship a purchase order, probably has its own
unique business object identifier (such as aorder 1D), so that business activity’s unique
ID can be used as the request-reply correlation ID. Then when the receiver gets the reply
and its corrélation ID, it can bypass the request message and go straight to the business
activity object that caused the request in the first place. In this case, rather than use the
messages' built-in request message ID and reply correlation ID properties, you should
use a custom business object ID in the request and the reply that identifies the business
object this request-reply message pair represents.

In the request message, the ID can be stored as a correlation ID property or smply a
message | D property. When used as a correlation ID, this can cause confusion as to

which message is the request and which is the reply. So typically a request has a message
ID but no correlation 1D, then areply has a correlation ID that is the same as the request’s
message ID. The reply may also have a message ID so that if it in turn has areply to this
reply, the second reply’s correlation 1D can be the same as the first reply’s message ID.

In this way, reply’s can be chained indefinitely via a series of message ID’s and
correlation ID’s,

JMS messages have a predefined property for correlation identifiers,

JMSCor r el at i onl D, which are typically used in conjunction with another predefined
property, JIMSMessagel D. A reply message's correlation ID is set from the request’s
message ID like this:
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Message request Message = // Get the request nessage
Message repl yMessage = // Create the reply nessage
String requestl D = request Message. get JIMSMessagel D() ;
repl yMessage. set JMsSCorrel ati onl D(request | D);

Each Message in .NET hasaCor r el at i onl d member, a string in an acknowledgement
message that is usualy set to the | d of the original message. MessageQueue dso hasa
specia peek and receive methods, PeekByCor r el ati onl d(stri ng) and

Recei veByCorrel ati onl d(string), for peeking at and consuming the message on
the queue (if any) with the specified correlation ID.

While a correlation identifier is used to match a reply message with its request, the
request may also have a Reply Specifier that states what channel to put the reply on.
Whereas a correlation identifier is used to match areply message with its request, a
Message Sequence’s identifiers are used to specify a message’s position within a series of
messages from the same sender.

Message Sequence

My application needs to send a huge amount of data to another process, more than may
fit in asingle message. Or my application has made a request whose reply contains too
much datafor a single Reply Message.

How can Messaging transmit an arbitrarily large amount of data?

It's nice to think that messages can be arbitrarily large, but there are practical limits to
how much data a single message can hold. Some messaging implementations place an
absolute limit on how big a message can be. Other implementations allow messages to
get quite big, but large messages nevertheless hurt performance. Even if the messaging
implementation allows large messages, the message producer or consumer may place a
[imit on the amount of data it can process at once. For example, many COBOL- and
mainframe-based systems will only consume or produce data in 32 Kb chunks.

So how do you get around this? One approach is to limit your application to never need
more data that what the messaging layer can handle. Thisis an arbitrary limit, though,
which can prevent your application from producing the desired functionality. If the large
amount of data is the result of arequest, the caller could issue multiple requests, one for
each result chunk, but that assumes the caller even knows how many result chunks will
be needed. The receiver could listen for data chunks until there are not anymore (but how
does it know there are not anymore?), then try to figure out how to reassemble the chunks
into the original, large piece of data, but that would be error-prone.

Inspiration comes from the way a mail order company sometimes ships an order in
multiple boxes. If there are three boxes, the shipper will mark them as“1 of 3,” “2 of 3,”
and “3 of 3" so that the receiver will know which ones he's received and whether he has
all of them. The trick is to apply the same technique to messaging.

Therefore:

Whenever alarge set of data may need to be broken into message-size
chunks, send the data as a message sequence and mark each message with
three sequence identification fields.
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The three sequence identification fields are:
1. Sequenceidentifier — Distinguishes this cluster of messages from others.

2. Position identifier — Uniquely identifies and sequentially orders each message in a
sequence.

3. Szeor End field — Specifies the number of messages in the cluster, or marks the
last message in the cluster (whose position identifier then specifies the size of the
cluster).

Let's say aset of data needs to be sent as a cluster of three messages. The sequence
identifier of the three-message cluster will be some unique ID. The position identifier for
each message will be different—either 1, 2, or 3. If the sender knows the total number of
messages from the start, the sequence size for each message is 3. If the sender does not
know the total number of messages until it runs out of data to send (e.g., the sender is
streaming the data), each message will have a “sequence end” flag that is true for the
final message in the sequence and false for al of the other messages. Either way, the
position identifiers and sequence size/end field will give the receiver enough information
to reassemble the parts back into the whole, even if the parts are not received in
sequential order.

For example, let’s say the user queries the application for all books by a certain author
and there are ten matches. The messaging design might choose to return each match as a
separate message. Then each message needs to indicate the query this reply is for, the
message’ s position in the sequence, and how many messages total to expect.

Or imagine a sender needs to send an extremely large document to a receiver, so large
that it must be broken into multiple messages. Again, each message needs to indicate its
position in the sequence and indicate how many messages total to expect.

An application using IMS may wish to use a Transactional Client for sending and
receiving sequences. The sender can send al of the messages in a sequence using a single
transaction. This way, none of the messages will be delivered until all of them have been
sent. Likewise, areceiver may wish to use a single transaction to receive the messages so
that it does not truly consume any of the messages until it receives all of them. If any of
the messages in the sequence are missing, the receiver can choose to rollback the
transaction so that the messages can be consumed later.

Message sequence identifiers are often used in conjunction with Correlation Identifiers,
but they solve different problems and can be used independently. If areply isin multiple
parts, each message will need the same correlation identifier to match the reply data with
its request, but a different position identifier to indicate its position in the sequence. A
single-message reply needs a correlation ID but no sequence ID. A multi-message
document needs sequence ID’s but no correlation ID.

M essage sequences and Competing Consumer s tend not to be compatible. If different
receivers consume different messages in a sequence, none of the receivers will be able to
reassemble the origina data without exchanging message contents with each other. Thus
a message sequence should be transmitted either via a Publish-Subscribe channel or a
Point-to-Point channel with a single consumer.
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Message Expiration

My application is using Messaging. If a message’s data or request is not received by a
certain time, it is useless and should be ignored.

How does a sender limit how much time can be used to transmit the
message?

Messaging virtually guarantees that the message will be delivered to the receiver
eventually. What it cannot guarantee is how long the delivery will take. For example, if
the network connecting the sender and receiver is down for aweek, then it could take a
week to deliver a message. Messaging is highly reliable, even when the participants
(sender, network, and receiver) are not, but messages can take a very long time to
transmit in unreliable circumstances.

Often, a message’ s contents have a practical limit for how long they’re useful. A caller
issuing a stock quote request probably looses interest if it does not receive an answer
within a minute or so. The means the request should not take more than a minute to
transmit, but also that the answer had better transmit back very quickly. A stock quote
reply more than a few seconds old is probably too old and therefore unreliable.

Once the sender sends a message and does not get areply, it has no way to cancel or
recall the message. Likewise, areceiver could check when a message was sent and reject
the message if it’'stoo old, but different senders under different circumstances may have
different ideas about how long is too long, so how does the receiver know which
messages to reject?

What is needed is away for the sender to specify the message's lifetime.
Therefore:

A message can contain a message expiration setting that specifies how long
the message isviable.

At the end of that time, the message will expire; an expired message isignored and
treated as if it where never sent in the first place.

A message expiration is a timestamp (date and time) that specifies how long the message
will live or when it will expire. The setting can be specified in relative or absolute terms.
An absolute setting specifies a date and time when the message will expire. A relative
setting specifies how long the message should live before it expires; the messaging
system will use the time when the message is sent to convert the relative setting into an
absolute one.

The message expiration property has a related property, sent time, which specifies when
the message was sent. A message’ s absolute expiration timestamp must be later than its
sent timestamp (or else it will expire immediately). To avoid this problem, senders
usually specify expiration times relatively, in which case the messaging system calculates
the expiration timestamp by adding the relative timeout to the sent timestamp (expire =
sent time + time to live).

JMS messages have a predefined property for message expiration, JMSExpi r at i on, but
a sender should not set it viaMessage. set JIMBExpi rati on(| ong) because the IMS
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provider will override that setting when the message is sent. Rather, the sender should use
itsMessagePr oducer (QueueSender or Topi cPubl i sher) to set the timeout for al
messages it sends; the method for this setting is MessagePr oducer . -

set Ti meToLi ve(l ong) . Time-to-live is arelative setting specifying how long after the
message is sent it should expire.

A .NET Message hastwo properties for specifying expiration: Ti mneToBeRecei ved
and Ti mreToReachQueue. The reach queue setting specifies how long the message has
to reach its destination queue, after which the message might sit in the queue indefinitely.
The be received setting specifies how long the message has to be consumed by areceiver,
which limits the total time for transmitting the message to its destination queue plus the
amount of time the message can spend sitting on the destination queue. Ti meToBe-
Recei ved isequivaent to IMS s JMSExpi r at i on property. Both time settings have a
value of type Syst em Ti meSpan, alength of time.

When a message expires, the messaging system may simply discard it or may move it to
a dead message queue (described in Malformed Message Channel). In Publish-Subscribe
messaging, each subscriber gets its own copy of the message; some copies of a message
may reach their subscribers successfully while other copies of the same message expire
before their subscribers consume them. A Reply Message with an expiration may not
work well—while the reply sender may wish to limit the message's lifetime, the reply
receiver may become confused when it does not receive a reply because the message
timed out. Thus the receiver has to be designed to handle the case where expected replies
are never received.
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4. Message Client Patterns

These patterns concern the behavior of messaging system clients. Polling Consumer
describes a client that receives messages synchronously, whereas Event-Driven
Consumer describes one that recelves messages asynchronously. Message Throttle
describes how a client can control the rate at which it accepts requests so as not to
become overwhelmed. Transactional Client describes how a client can externally control
the transactions used to send and receive messages. Competing Consumers describes a
simple technique to process messages on a channel concurrently, whereas Message
Dispatcher describes a more complex but more flexible technique for consuming
messages concurrently.

Polling Consumer

A message consumer needs to consume messages o that it knows what to do, but needs
to control when it consumes those messages.

How can a client explicitly control therate at which it consumes messages?

Message consumers exit for one reason—to consume messages. The messages represent
work that needs to be done, so the consumer needs to consume those messages and do the
work.

But how does the consumer know when a new message is available? The easiest
approach is for the consumer to repeatedly check the channel to see if amessageis
available. When a message is available, it consumes the message, and then goes back to
checking for the next one. This process is called polling.

The beauty of polling is that the consumer can request the next message when it is ready
for another message. So it consumes messages at the rate it wants to, rather than at the
rate they arrive in the channel.

Therefore:

The client should use a polling consumer, one that explicitly makes a call
when it wants to receive a message.

Thisis also known as a synchronous receiver, because the receiver thread blocks until a
message is received.

A IMS MessageConsuner has three different receive methods:
1. receive() —Blocksuntil amessage is available, then returns it.
2. recei veNoWii t () — Checks once for a message, and returns it or null.

3. recei ve(l ong) —Blocks either until a message is available and returnsiit, or
until the time-out expires and returns null.

A .NET MessageQueue client has several variations of receive. The two simplest are:

1. Receive() —Blocksuntil a message is available, then returns it.
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2. Recei ve(Ti neSpan) —Blockseither until a message is available and returnsiit,
or until the time-out expires and throws MessageQueueExcept i on.

A consumer that is polling too much or blocking threads for too long can be redesigned
asan Event-Driven Consumer. A set of polling consumers can be used to implement a
Message Throttle.

Event-Driven Consumer

A message consumer needs to consume messages so that it knows what to do, but needs
to control when it consumes those messages.

How can a client automatically consume messages as they become available?

The problem with Polling Consumers is that when the channel is empty, the consumer
blocks threads and/or consumes process time polling for messages that are not there. This
enables the client to control the rate of consumption, but wastes resources when there's
nothing to consume.

Rather than continuously asking the channel if it has messages to consume, it would be
better if the channel could tell the client when a message is available. For that matter,
instead of making the consumer poll for the message to get the message, just give the
message to the consumer as soon as the message becomes available.

Therefore:

The client should use an event-driven consumer, onethat isautomatically sent
messages as they’re added to the channel.

Thisis aso known as an asynchronous receiver, because the receiver does not have a
running thread until a callback thread delivers a message.

An event-driven consumer consists of two parts:

1. Event Handler — The code that detects the message-received event, gets the
message, and hands it off to the performer.

2. Performer — The code that gets the message and processesiit.

In IMS, the performer part of an event-driven consumer is a class that implements the
MessagelLi st ener interface. Thisinterface declares a single method,
onMessage( Message) . The performer classimplements onMessage to do whatever
the consumer wants to do to process the message. Here is an example of aJMS
performer:

public class MyMessagelLi stener inplenents Messageli stener {

public void onMessage( Message nessage) {
/1 Consune and process the nessage

}
}

The event handler part of an event-driven client creates the desired performer object
(whichisaMessageLi st ener instance) and associates it with the consumer:
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Destination dest = // Get the destination

Session session = // Create the session

MessageConsumer consuner = session. createConsuner (dest);
MessagelLi stener |istener = new MyMessageli stener();
consuner. set MessagelLi stener (listener);

Now, when the destination receives a message, the IMS provider will call
MyMessageLi st ener. onMessage with the message as a parameter.

With .NET, the performer part of an event-driven client implements a method that is a
Recei veConpl et edEvent Handl er delegate. This delegate method must accept two
parameters. an Obj ect that isthe MessageQueue, and a

Recei veConpl et edEvent Ar gs that is the arguments from the Recei veConpl et ed
event. The method uses the arguments to get the message from the queue and process it.
Hereis an example of a.NET performer:

public static void MyRecei veConpl et ed( Obj ect source,
Recei veConpl et edEvent Args asyncResul t)

{
MessageQueue ng = (MessageQueue) source;
Message m = nqg. EndRecei ve(asyncResul t. AsyncResul t);
/1 Consune and process the nessage
mg. Begi nRecei ve();
return;

}

The event handler part of an event-driven client specifies that the queue should run the
delegate method to handle a Recei veConpl et ed event:
MessageQueue queue = // Get the queue
gueue. Recei veConpl eted +=
new Recei veConpl et edEvent Handl er (MyRecei veConpl et ed) ;
gueue. Begi nRecei ve();

Now, when the queue receives a message, it will issue aRecei veConpl et ed event,
which will run the MyRecei veConpl et ed method.

Event-driven consumers automatically consume messages as they become available. For
more fine-grained control of the consumption rate, use a Polling Consumer. Event-driven
consumers can be used to implement a Message Throttle if the total number of consumers
is limited so as not to overwhelm the receiver application.

Message Throttle

When two applications are joined such that one calls the other, there is the possibility that
the caller will make so many calls that they flood the receiver and cause it to crash.

How can a computer providing a service keep from becoming overwhelmed
with an unreasonable number of requests?

When providing more users easier access to a legacy application, avery real concern is
that the new users may well create far more load than the legacy application was
designed to handle. Say atravel reservations app is designed to support a few hundred
travel agents at atime, but a new web front-end enables anyone with a web browser to
use this reservations system. If an airline announces a discounted fare, thousands of users
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may flood the website to buy tickets. The web front-end may be able to handle this load,
but the legacy backend may not. If the web app forces too much load on the legacy app,
the legacy app may crash.

The web app could try to control the load it places on the legacy app, but that can be
difficult. The web app does not know how much load it’s creating; what it can control is
the number of simultaneous requests it makes. Y et with hundreds of threads making
reguests, even the web app may not know how many requests it's making. Even if the
web app can control the load it causes, there could well be several other web apps also
creating load, each thinking that it can use all of the legacy app’s capacity.

What is needed is away for the legacy app to control how many requests it tries to
perform at once. If itsload is low, it can take on more requests. If load is too high, it can
sow the number of additional requests it accepts. Controlling load by adjusting to handle
more or fewer requestsis called throttling.

Therefore:
Use a message throttleto control the rate at which a recelver acceptsrequests.

This requires that the caller and receiver use Messaging to make requests. Then the
receiver can control the rate at which it consumes request messages so that it does not try
to handle too many requests at once. If the callers are sending request messages faster
than the receiver is consuming them, the unconsumed messages will simply queue up
while waiting to be consumed.

Messaging provides two ways to control message consumption: the receiver can be an
Event-Driven Consumer or a Polling Consumer. Event-driven consumers will consume
messages as fast as they become available. This conceivably could flood the legacy app,
but probably will not because the messaging client only has so many threads and so many
listener objects, so these will tend to limit the consumption rate. If event-driven
consumption still might overwhelm the legacy app, the app can use a polling approach to
more-explicitly control consumption. Either way, messaging’s queuing allows
communication to be paced so that the receiver will not be overwhelmed.

Throttling is typically used when consuming Command Messages, where the receiver
cannot afford to loose a command but may become overwhelmed trying to process too
many of them. Throttling can also be used when consuming Document Messages, again
because they should not be lost but may require effort to consume.

Throttling is more typically used with Point-to-Point messaging, where the receiver
needs to be sure not to loose the message. With Publish-Subscribe messaging, the
messages are usually events, which can be easier to process than point-to-point command
messages, and which a receiver may be able to ignore altogether.

Transactional Client

A messaging system, by necessity, uses transactional behavior internally. It may be
useful for an external client to be able to control the scope of the transactions that impact
its behavior.

How can a client control itstransactions with the messaging system?
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A messaging system must use transactions internally. A persistent message is not
considered sent until the messaging system has persisted the message, so the send action
and the internal persistence must be implemented as a single atomic operation. The
message that is sent must be persistent, so that if the system crashes and restarts, the
persisted message will be sent correctly. Two Competing Consumers may attempt to read
the same message; the messaging system must ensure that the read operation is atomic
and that the consumers’ two read operations are isolated so that only one of the
consumers actually receives the message. When the messaging system moves a message
from a physical copy of a queue on one computer to that on another, it uses a distributed
transaction across the two computers to ensure that, at any given time, the messageisin
only one queue or the other, even if the messaging system crashes while moving the
message. Thus the messaging system must always be in a consistent state, even if the
system crashes. Transactions are a fundamental part of how a messaging system delivers
messages reliably in unreliable circumstances.

A messaging client may not be aware of these internal transactions. All it knows is that
the send and receive actions are atomic; a message is either sent or it is not, consumed or
not consumed. Hiding transactions within calls like send and r ecei ve make messaging
clients much simpler.

Y et hidden transactions are too simple for some messaging clients. A client may wish to
explicitly control transaction boundaries.

Therefore:

Makethe client’s session with the messaging system transactional so that the
client can specify transaction boundaries.

There are two reasons a client may wish to control its transactions with the messaging
system:

1. Batch message sends/receives — The client wishes to send or receive several
messages all at once, such that either all of them get sent/received, or none of
them do. (Note that messages sent as a batch do not have to be recelved as a
batch, and vice versa.)

2. Coordinate transactions — Sending/receiving a message may represent an action
external to the messaging system, such as deleting a document being sent or
consuming an event being received, and the external action needsto be
coordinated with the message being manipulated such that either it al happens or
none of it does. This often involves a distributed transaction, where transactions
on two different data stores must be combined and coordinated using a two-phase
commit.

Transactional clients using Event-Driven Consumers may not work as expected. The
event handler typically must commit the transaction for receiving the message before
passing the message to the performer. Then if the performer examines the message and
decides it does not want to consume it, or if the performer encounters an error and wants
to rollback the consume action, it cannot because it does not have access to the
transaction. So an event-driven consumer tends to work the same whether or not its client
istransactiona.
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In IMS, aclient makes itsalf transactional when it creates its session.

Connecti on connection = // Get the connection
Sessi on session =
connecti on. createSession(true, Session. AUTO ACKNOALEDGE) ;

Setting the first cr eat eSessi on parameter to true makes the session transactional.

When a client is using a transactional session, it must explicitly commit sends and
receives to make them real.
Queue queue = // Get the queue

MessageConsumer consuner = session. createConsuner (queue);
Message message = consumer.receive();

At this point, the message has only been consumed in the consumer’ s transactional view.
But to other consumers with their own transactional views, the message is still available.

session.commit();

Now, assuming that the commit message does not throw any exceptions, the consumer’s
transactional view becomes the message system’s, which now considers the message
consumed.

In .NET, each action on a queue (send, receive, etc.) is either transactional or not.

MessageQueue queue = // Get the queue
MessageQueueTransacti on transaction =

new MessageQueueTr ansaction();
transacti on. Begi n();
Message message = queue. Recei ve(transaction);
transaction. Conmit();

Although the client had received the message, the messaging system did not make the
message unavailable on the queue until the client committed the transaction successfully.

A client sending or receiving a Message Sequence may use a single transaction to ensure
sending or receiving all of the messages in the sequence or none of them. A client
executing a Command Message may wait until it executes the command and sends the
Reply Message before committing the transaction that receives the command and sends
the reply. (The requestor needs two transactions, however—one for sending the request
and another for receiving the reply. If the requestor tries to send the request but will not
commit the transaction until it receives the reply, it'll wait forever because the request
does not really get sent until the transaction is committed, so there never will be areply.)
A client consuming a Document Message may wish to persist the document before
committing to consuming the message and persisting the data. A client consuming an
Event Message may wish to process the event before committing the receive action.

Competing Consumers

My application is using Messaging. However, it cannot process messages as fast as
they’ re being added to the channel.

How can a messaging client process multiple messages concurrently?
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Messages arrive through a channel sequentially, so the natural inclination of a consumer
isto process them sequentially. However, sequential consumption may be too slow and
messages may pile up on the channel, which makes the messaging system a bottleneck
and hurts overall throughput of the application. This can happen either because of
multiple senders on the channel or because each message takes significantly more effort
to consume and perform than it does to send.

The application could use multiple channels, but one channel might become a bottleneck
while another sits empty, and a sender would not know which one of equivalent channels
to use. Multiple channels would have the advantage, however, of enabling multiple
consumers (one per channel), processing messages concurrently. Even if this worked,
though, the number of channels the application defined would till limit the throughput.

What is needed is a way for a channel to have multiple consumers.
Therefore:

Create multiple competing consumers on a single channel so that the
consumers can process multiple messages concurrently.

This solution only works with Point-to-Point channels; multiple consumers on a Publish-
Subscribe channel just create more copies of each message. But with point-to-point, each
consumer processes a different message concurrently, so the bottleneck becomes how
quickly the channel can feed messages to the consumers instead of how long it takes a
consumer to process amessage. A limited number of consumers may still be a bottleneck,
but increasing the number of consumers can alleviate that constraint as long as there are
available computing resources.

For competing consumers to work properly, each consumer must have its own session
and message consumer. \When the consumers are running concurrently, they will each
have their own thread, and the transactions in a session are not guaranteed to work
correctly if two concurrent threads share a single session. [IMS02, pp. 26-27]

A sophisticated messaging system will detect competing consumers on a channel and
internally provide a Message Dispatcher that ensures that each message is only delivered
to asingle consumer. This helps avoid conflicts that would arise if multiple consumers
each thought they were the consumer of a single message.

Competing consumers may not work well with Transactional Clients. A messaging
system with a good locking scheme should prevent multiple consumers from trying to
simultaneously consume a single message, but there is no guarantee that a particular
messaging system implementation will provide this behavior or that the behavior will be
equivalent from one implementation to the next. Thus code dependent on this behavior
may not be portable and should be thoroughly tested on each messaging system
implementation.

The coordination of competing consumers depends on each messaging system’s
implementation. If the client wants to implement this coordination itself, it should use a
Message Dispatcher.
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Message Dispatcher

My application is using Messaging. However, it cannot process messages as fast as
they’re being added to the channel. | considered using Competing Consumers but that
would not work well.

How can a messaging client process multiple messages concurrently?

Competing consumers is a simple solution to this problem, but its specific behavior is
largely dependent on the internal implementation of the messaging system. It may not
work well with transactional clients, and does not work at all with Publish-Subscribe
channels. These circumstances require a single consumer.

Y et asingle consumer can become a bottleneck to consuming messages. When there are
alot of messages to consume or each one takes along time to perform, consumption
needs to take a minimal amount of time and the messages need to be performed
concurrently. The channel wants a single consumer but multiple consumers need to run
concurrently.

Therefore:

Create a message dispatcher on a channel to consume messages and distribute
them to performers.

A message dispatcher consists of two parts:

1. Dispatcher — The object that detects a newly available message, gets the message,
and hands it off to a performer.

2. Performer — The object that gets the message and processesiit.

A dispatcher acts as a one-to-many connection between a single channel and a group of
performers. The performers do most of the work; the dispatcher just acts as a
matchmaker, matching each message with an available performer. The dispatcher
receives the message, and then sends it to a performer to process it. Because the
dispatcher does relatively little work, it can dispatch messages as fast as the messaging
system can feed them and thus avoids becoming a bottleneck.

A dispatcher makes the performers work much like Event-Driven Consumers, even
though the dispatcher could be an event-driven consumer or a Polling Consumer. As
such, implementing a dispatcher as part of a Transactional Client can be difficult. If the
client is transactional, ideally the dispatcher should allow the performer to process a
message before completing the transaction. Then, only if the performer is successful
should the dispatcher commit the transaction. If the performer fails to process the
message, the dispatcher should rollback the transaction. Since each performer may need
to rollback its individual message, the dispatcher needs a session for each performer and
must use that performer’s session to receive the performer’s message and complete its
transaction. Since event-driven consumers often do not work well with transactional
clients, the dispatcher should not be an event-driven consumer, but rather should be a
polling consumer.

In IMS, it is helpful to implement the performer as a MessageLi st ener . A message
listener has one method, onMessage( Message) ; it accepts a message and performs
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whatever processing necessary. This forms a clean separation between the dispatcher and
the performer. Likewise, in .NET, the performer should be a

Recei veConpl et edEvent Handl er delegate, even though the dispatcher will not
realy issue Recei veConpl et ed events.

Message Selector

My application is using Messaging to transmit a large number of data typesto alarge
number of receivers, which requires a very large number of channels.

How can | make one channel act like several separate channels?

We like to think of a messaging system asiif it has an unlimited number of channels, but
no computer resource is truly unlimited. At the very least, more hardware is required.
With a messaging system, the messaging servers have to be deployed across a greater
number of computers. One messaging system may have a hard limit to the number of
channels it can support; to have more, multiple messaging systems have to be integrated
to work as one, which is not so easy to do.

So channels are arelatively scarce resource that should not be wasted. Data Type
Channel says that you need a channel per data type to be transmitted. When a sender is
trying to communicate with a particular receiver or type of receiver, it needs a dedicated
channel for this use. In general, when a channel has multiple receivers, any one of them
has equal access to any message on the channel, even if thisis not what the sender
intended. What is needed is some way to mark a message to specify which receiver
should consume it.

Therefore:

Use a message selector to specify a message’s type and receive only messages
of a particular type.

The sender sets a message’ s selector value, and then each receiver filters for a certain
selector value. A receiver will only receive the messages whose selector matches the
receiver’ s filter. A channel should have at least one receiver filtering for each valid
selector value or the messages with that selector will be ignored, like a channel with no
receivers.
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Send Price Quote (Set Type to Price Quote), Orders, Process

Send Purchase Order (Set Type to Purchase Order), | Select Purchase
Send Query (Set Type to Query) Purchase Order

Purchase Order

Price Quote
Query / >

Figure 14: Queue with M essage Selectors

For example, a stock trading system with a limited number of channels might need to use
one channel for both quotes and trades. The receiver for performing a quote is very
different from that for trading, so the right recelver needs to be sure to consume the right
message. So the sender would set the message selector on a quote message to QUOTE, and
the quote receiver would only consume messages with QUOTE message selectors. Trade
messages would have their own TRADE message selector that their senders and receivers
would use. In this way, two message types can successfully share a single channel.

InIMS, aMessageConsuner (QueueRecei ver or Topi cSubscri ber) can be created
with a message selector string that filters messages based on their property values. First, a
sender would set the value of a property in the message that the receiver could filter by:

Text Message nessage = session. creat eText Message() ;

nmessage. set Text (" <quot e>SUNW/ quot e>") ;

nmessage. set Stri ngProperty("req_type", "quote");

Destination destination = //get the destination

MessagePr oducer producer = session. createProducer(destination);
producer. send( nessage) ;

Second, areceiver set its message selector to filter for that value:

Destination destination = //get the destination
String selector = "req_type = 'quote'";
MessageConsumer consuner =

sessi on. creat eConsuner (desti nati on, selector);
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This receiver will ignore all messages whose request type property is not set to “quote” as
if those messages were never added to the destination at all.

In .NET, MessageQueue. Recei ve does not support message selectors per se. Rather,
what arecelver can do is use MessageQueue. Peek to look at a message. If it meets the
desired criteria, then it can use MessageQueue. Recei ve to read it from the queue.

Message selectors make a single channel act like multiple Data Type Channels.
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5. Messaging Application Patterns

The following patterns are unique in that they are al really solve the same general
problem, within the same architectural framework, but each relate to a specific part of
that general problem. Our basic problem is this: messages form the core of our
architecture; however, not all programs can handle messages (e.g. not all programs are
built with a messaging system in mind) and even when a program is built to attach to a
messaging system, it might not be capable of handling a specific message format that
another program is capable of generating.

In this section of patterns, Pipes and Filters shows how you can architect a system that
uses messaging to handle multiple sequential processing steps that can be carried out for
different requests simultaneously. Message Router demonstrates how specific business
logic can be used to make routing decisions and redirect processing among several
potential steps. Message Translator and Message Bridge describe the ways in which
systems can convert messages to other forms and transports to allow systems to
communicate freely.

To facilitate the communication between disparate systems, a Canonical Message Data
Format should be adopted. Whichever message format is chosen, it should exhibit Data
Format Flexibility in order to make it clear how programs written at different timesin a
system lifecycle should communicate. Finally, Message Bus integrates severa of the
previous patterns into ajoint architecture that solves several outstanding business
problems.

Pipes and Filters Messaging

Computers often perform tasks as a series of steps, but this is more complicated when the
tasks must be performed by different processes.

How can the steps of a process be performed when different steps must be
performed on different machines?

Just about any task worth automating with computer software requires that a series of
steps to be performed. At the line-of-code level, to average two numbers, the computer
must first add them, and then divide by two. At the use case level, a document (such as a
purchase order, insurance claim, etc.) must be received, processed, and then handed to the
next processor.

A computer performs atask in a divide-and-conquer style, by splitting the task into a
series of steps and performing one step at atime. Thisis so common that there's an
architectural pattern for it, the Pipes and Filters pattern [BMRSS95]. A set of datais
processed by afilter (a program that manipulates the data in some way), then passed
through a pipe to another filter for more processing, and so forth for all of the stepsin the
task.

In its ssimplest form, a pipes-and-filters architecture runs all in one process with datain
one memory space that’s shared by all of the pipes-and-filter steps. With distributed
computing, however, the various filters are often running in different processes. This
distributes the processing and provides the opportunity for load balancing, fault tolerance,
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etc., but requires a more complex pipe to transmit the data from afilter in one process to
another filter in a separate process. What is needed is a pipe designed to connect separate
processes. As luck would have it, Messaging provides just such a pipe.

Therefore:

Use pipes and filters messaging to perform several stepsin sequence even
when different stepsrun in different processes.

Each step becomes afilter that manipulates the data; the pipe is the messaging connection
that transmits data from one step to the next.

For example, consider processing an insurance claim. The claim must be entered,
approved, and then a check isissued. All three steps could be performed in one
application running on one machine, but probably there's a specialized application for
each step: A web page for customers to enter claims, a native GUI for claims adjusters to
approve claims, and a program for writing and printing checks that will issue claims
checks. Since these are three separate applications, they must be linked, and messaging is
agood way to do so.

Create an Adjust and approve the Print a check for
insurance claim clam the claim
Approved \

[opramocd) L) () worr
T =

Figure 15: Pipes and filter messaging for processing an insurance claim

More often than not, the messages that are carried on the pipesin a Pipes and Filters
Messaging system are Document Messages. Thus, the pipes are most commonly Point-
to-Point connections.

With a pipes and filters messaging design, data can be processed in severa different
ways. A Message Router can use various pipes to choose which filter to apply next. A
Message Translator can convert the data format output by one filter into the data format
expected by the next filter. If afilter cannot connect to a messaging pipe, use a Message
Bridgeto connect this filter to the messaging system.

Message Translator
My application implements a Pipes and Filters Messaging architecture, but different
filters expect messages with different formats.

How can systems using different data formats work together in the same
architecture?

When two applications are built independently, they rarely agree on the same data
format. Y et when we try to integrate them in an enterprise system, they need to agree on
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the data formats they’ re exchanging. For example, a company may develop an order
processing application that uses a particular COBOL data format, and independently
develop an order entry application that uses an XML data format. When the company
decides to integrate these two applications together, which data format should the
applications use?

The company integrating the applications may wish to avoid modifying either
application, especially a change as fundamental as changing an application’s data format.
Changing an application’s data format is risky, difficult, and will discourage integrating
more applications in the future.

Messaging can be used to integrate the applications pipe-and-filter style, where each
application acts like a big filter. But for two filters to pass data through a pipe, they have
to agree on the data format being exchanged. What is needed is an intermediary
application that will trandate the data formats between the two existing applications.

Therefore:

Insert a special filter, a message translator, between two other filtersto
translate one's output format into the other’sinput format.

A message trandator is a specialized kind of filter that takes a message in one format and
trandates it to another format. There are a number of commercial products that do this,
like Extricity and MQ-Si.

For example, the order entry application can send a message using its XML data format,
the message goes to the trandator which trand ates the data from the order entry format to
the order processing format, and then the message goes to the order processing
application in its COBOL format.
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Origina Message Format Trandated Message Format
N

<Order> 01 Order.
<Customerld>1234</Customer| d> 02 Custld  PIC 9(7).
<Customer>Bob Smith</Customer> 02 CustName.

<OrderDetails>
<Symbol>IBM</Symbol>
<Amount>100</Amount>
</OrderDetails>

</Order>

03 Surname  PIC X(8).
03 Initials PICXX.
02 OrderInfo.
03 Symbol  PIC X(3).
03 Amount  PIC 9(8).

= = —
=N —
Order Entry Order Trandator Order Processing

Figure16: Order Translation

In this way, the Message Trandator acts as a specia filter in Pipes and Filters
Messaging. It protects the systems on each end of the pipe from knowing about the
details of the format the other expects, but at the same time, each of the systems are
isolated from the Message Trandator itself — if one or the other of the systems became
able to speak the native format of the other, then the Message Trandator could be
removed from the topology altogether without changing the functioning of the system at
al.

Message trandators are often used in converting from an internal data representation
(specific to a particular company) to a standard, external data representation. For
example, an insurance company may trandate requests made using one of the standard
ACORD XML message formats! into an internal message format.

Another common use of this pattern we see today is that a group of programs decide on a
common XML message format (a Canonical Message Data Model), and then use a
message trandator to interface with other (perhaps older) programs that do not natively
speak that XML format.

Canonical Message Data Model

My application implements a Pipes and Filters Messaging architecture, but al of the
filters expect different data formats. This has lead to a huge number of Message
Trandator filters that require maintenance effort and runtime resources.

1 ACORD is a standards organization for the insurance industry. Its XML standards can be downloaded at
http://www.acord.org/xml_frame.htm.
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How can the pipes-and-filter s data be designed to minimize trandation?

As described in Message Trandator, independently devel oped applications tend to use
different data formats. They can be integrated with messages trandlators, but this can lead
to an explosion of trandators that become as difficult to maintain and run as the
applications themselves. Eventually there comes a point where the tranglators are too
complex and too numerous, and the applications need to be modified to work together
better without trandators.

The reason independently devel oped applications tend to use different data formats is that
each format was designed with just one application in mind. What is needed is a format
designed with all applications in mind, so that it will work with any application. Such a
unified format is needed not just for a single data type, but for al data types that may be
exchanged between applications. Once each application is modified to use these data
formats, then all of the applications will be able to exchange data. As new applications
are added, if they expect the unified data formats, then they too can be integrated without
trandators.

Therefore:

Develop a canonical message data model that all filtersuse so that no
trandation isnecessary.

A canonical message data model is a unified data model for data types that will be passed
through messaging. Designers should strive to make the unified model work equally well
for all applications being integrated. Applications designed to produce and consume data
conforming to the unified model do not require trandators.

A canonical message data model is actually made up of two layered protocols (a) what
data is sent between the parties and (b) how that datais represented. These two protocol
layers are termed the application layer and presentation layer in the OSI reference
model. There are alarge number of presentation layer protocols to choose from, such as
XDR, ASN.1, CDR, etc. A presentation layer is simply a common way of encoding or
representing your data. For instance, you may say that your datais encoded in XML —
this means that the data will follow the rules of the XML standard (purely text, with
elements enclosed in tags that represent the structure of the data).

While, today the basis for a presentation layer protocol is often XML, but both ASN.1
and key-value pairs are also popular and useful. In this way al messages have the same
top-level format, and each system trandates from a well-known, canonical model to its
own internal format on message receipt and vice versa before it sends a message.

However, even with a common presentation layer protocol you have to define common
semantics too. For instance, you have to get al parties to agree on the definitions of al of
your terms. This is the application layer protocol part of the reference model. This means
that each of the systems in your application will need to agree on a common way to (for
instance) identify Customers so that a Customer identifier on one system refers to the
same Customer on another system and so on. In XML, DTD (Document Type
Definition) and XML Schema are two different ways of specifying different application
layer protocols for specific uses. So, within an organization, you may specify both that
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all datawill be sent using XML (a presentation layer protocol choice) and using a
specific XML Schema (an application layer choice).

Adopting a Canonical Message Format |eads to requiring Data Format Flexibility.
Usually, when adopting a canonical message data format, you will require Message
Trandators to convert from the canonical format to existing message formats, at least for
some length of time while both formats must co-exist.

Data Format Flexibility

My application implements a Pipes and Filters Messaging architecture, perhaps using a
Canonical Message Data Model, but redlistically the message formats may need to
change over time.

How can a message' s data format be designed to allow for possible future
changes?

Let's take a worst-case scenario. Say you have a binary format and that in version 1.0
your first field in 32 bits. In version 2.0 that field is now 64 bits. The problem is that
version 2.0 programs will try to read not only the first field, but part of the second
field...chaos ensues. So a fixed binary format is not flexible enough to meet our needs.

Therefore:

Design a data format that includes meta-data to describe the structure of the
data, a structurethat may change over time.

There are at least three template solutions to this problem.

1. Version Numbers —include a "version number" as the first field of the structure.
Programs know immediately what they're dealing with and whether or not they can
handle it.

2. “Sdf-describing” data. If your datais “key-value” or XML then your programs can
more easily tolerate certain types of changes to the data structure since position does
not matter (as much...). However, even XML documents often refer to a specific DTD
—if the difference is too great, then areplacement DTD can declare its compatibility
using a version numbering scheme like the one described above.

3. “For expansion” or “unused” fields. In positional (binary) forms you keep some space
for future expansion, which older programs ignore and newer programs can use.

Which one you choose depends to a large extent upon the structure of the rest of your
system. In most cases, akey-value or XML format will provide the most flexibility.
However, many older systems (mostly those written in COBOL or C) may not be able to
take advantage of an XML format as they do not have easily available XML parsers and
generators for them. So, if you choose to use an XML format for flexibility, and you
have a system like this, you must use a Message Trandlator to convert between the more
flexible format and one of the other two binary cases.

Both Binary and XML formats can take advantage of the version number scheme. In an
XML format, the version number is redlly carried through the internal reference to the
DTD or Schemathat the XML document was written to. If a program cannot process a
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particular version of aDTD or Schema, it can reject the document outright. On the other
hand, in a binary format, literal version numbers are critical to understanding the
structure of the remainder of the document. Since the size of a binary structure should
often remain fixed (since older programs could suffer buffer overflow if alarger structure
is passed to them than they expect) the “expansion” fields solution is often used in this
stuation. However, even in that situation, a version number must be used so the
receiving program will know how to interpret the “expansion” fields by referring to a set
of metadata that is keyed by version number indicating the meaning of each field.

Message Router
My application implementsa Pipes and Filters Messaging ar chitectur e, but
every filter may need to send data to any other filter, which will cause an
explosion in the number of pipes needed. How can any filter send data to
any other filter without the need for a pipe between every single pair of
filters?

For one of N filters to talk to every other filter requires N — 1 pipes. Since message pipes
are one way, not only does filter A need a pipe to send data to filter B, but then filter B
needs another pipe to send data to filter A.

If thisis a Purchase \
Order send it to B and

C, but if it'sa Query,
thensendittoD ...
now where was |
supposed to send that
again!??

Al C O

B

OO

O
C:)

Figurel7

_
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Publish-Subscribe may be a considered as a solution to this problem in that it reduces the
total number of channels involved, but the semantics of publish-subscribe may not be
appropriate for al cases;, We may have the case where each system is buried under an
avalanche of messages that it may not care about (necessitating Message Selectors), or
we may end up in a case where only one of severa similar systems may need to process a
particular message — a complex problem to try address with Publish-Subscribe; one that
would require very close coordination of the receiving systems.

As noted in Message Selector, no computing resource is truly unlimited, including
message channels.

Therefore:

A filter should send its data to a central message router that will send the
data to the next filter.

A message router will read from one queue and then place its output on N (where N
could be 1 or a number greater than 1) other queues based on information held inside
each particular message’ s body or its headers.

The primary decision here is where the routing portion of your business logic lives. Ina
topology without a message router, often systems must duplicate routing logic in each of
the potential senders and receivers of messages. A Message Router gathers together that
routing logic into a single point, making it easier to update the routing when necessary.

This pattern is arealization of the pipes and filters pattern. A message router is a
speciaized kind of filter that takes input from one pipe and directs its output to 1 to N
other pipes. Most Messaging router systems are rule-based, meaning that they can make
simple decisions about which destinations a message will go to based on the content of
the incoming messages.
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Figure 18

As an example, IBM’s MQSeries MQ Systems Integrator (MQSi) product actsas a
message router [MQSi]. The following diagram shows the structure of the MQSi product.
This isinstructive because the basic steps used by the MQSi product (remove a message
from a Queue or Topic, evaluate it against some set of rules, and then based on the
decisions, place it on one or more other Queues or Topics) are the same that any Message
Router will take.
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Figure19: MQSi system structure

Of course, you do not need the flexibility of a product like MQSi in all cases. In many

cases an individual Java program can act as a Message Router, invoking business logic
triggered by the receipt of a IMS message, and then placing the output on one or more
appropriate queues.

Message Bridge

My application implements a Pipes and Filters Messaging architecture, but some of the
filters cannot use a messaging client and thus cannot put messages on a pipe implemented
using a messaging system.

How can a process without a messaging client participate in messaging?

In many cases, existing systems are only capable of communicating via a simple protocol
like HTTP or TCP/IP Sockets due to firewall restrictions or other problems like the
unavailability of amessaging client for a particular programming language or operating
system.

Another common case is where a company uses two different messaging systems; for
instance IBM’s MQ Series and Sonic Software’s SonicMQ. The JM S standard does not
mandate interoperability between IMS clients and servers; therefore you cannot (for
instance) easily transfer a message from a Queue on MQ Series to another Queue on
SonicMQ.  So, asaresult, in most EAl (Enterprise Application Integration) scenarios
there are a set of cases where information cannot reach its intended destination because of
protocol mismatches.
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Therefore:
Use a message bridge, a gateway into the messaging system, to connect a non-
messaging client to a messaging system.

For instance, a common case is to build a bridge that accepts messages through HTTP
and then sends them on to an external system through JIMS (using a MOM like MQ
Series) and vice versa

HTTP MQ Series
over the
global ) D)
Internet
L
==
: , Order
Requesting Message Bridge Processing
Program (Java Servlet) Program

Figure 20: Message Bridge

Again, here the Message Bridge (the Java servlet in our example) isredly just acting as a
specific type of filter in Pipes and Filters Messaging. This sort of Gateway for protocols
will commonly be used to allow connections from clients that cannot use the underlying
MOM protocol for one reason or another. Often, MOM vendors include such gateways
as avalue-add to their products. For instance, WebSphere Application Server 5.0
contains a product called the “Web Services Gateway” that transparently bridges SOAP
messages from HTTP to MQ Seriesin thisway. This alows the SOAP messages to be
conveyed over an intranet using the native MQ Series protocols, while messages can be
carried to the global internet (outside the firewall) over HTTP. Another example of a
message bridge of this sort can be found in the Apache SOAP engine, which includes a
bridge for SOAP messages from SMTP to HTTP.

There are many concerns that must be dealt with in building a Message Bridge.
Obviously, when you leave the protocol and software of a MOM behind, you leave the
Qualities of Service that aMOM provides behind aswell. Y ou must also consider that
different protocols have different properties — for instance, in the example above there is
no easy way to “push” messages to the client system over HTTP unless that system
listens over HTTP (e.g. contains a web server) aswell. In many cases, this reduction in
QoS is acceptable, but it is not a decision that should be taken lightly.

Message Bus

My enterprise contains severa existing systems that must be able to share data and
operate this shared data in response to a set of common business requests.

Isthere an architecture that enables separ ate applications to work together,
but in a decoupled fashion such that applications can be easily added or
removed without affecting the other s?
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When you are architecting a solution that must perform Enterprise Application
Integration (EAI) you are often faced with the problem that you have multiple disparate
systems, developed in several different languages and environments, which must
communicate with each other in a controlled and orderly fashion. For instance, consider
the following example: Let’s say that you' re an Insurance Company that sells different
kinds of insurance products (life, health, auto, home, etc.). As aresult of various
corporate mergers and acquisitions, and the varying winds of change in IT development
you are stuck with the following problem:

Life Insurance System
(Mainframe COBOL IMYS)

Health Insurance System
(Client-Server C++)

Auto Insurance System
(Mainframe COBOL CICYS)

L’y—‘

\ 4

Homeowners Insurance System

Insurance Agents
g (J2EE)

Figure21: EAI Scenario

In this scenario, the different insurance products are all handled by different front-end
systems, with varying business rules. However, what if an insurance agent wants to
accomplish asimple task like changing the Home Address of a Client that has policies of
al four types? In the worst-case scenario, the agent would have to use four different
systems (with four different interfaces) in order to perform this update — a lengthy and
time-consuming process that takes them away from their primary job function. What's
more, the chances for error increase as the number of systems the agent must use
increases.

So, what the agent would like to do is to be able to make this change once, and have the
change propagate to all of the systems that need to be updated. However, in many cases,
it's not feasible to scrap the existing systems and rewrite them with a single interface
(due to the cost involved), nor isit feasible to “skip” the intervening system layers and go
directly to the underlying databases where the data is stored (because of the business
logic “edits’ that run on the data before it is inserted or updated into the database).
Writing a single program (such as a set of Java Servlets or EJBs that would use JCA) that
acts as afront-end to all of the systemsinvolved is often not feasible either, since
managing the different interaction patterns of all of the systems involved would probably
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cause the front-end system to collapse under its own weight. So, what is needed is a way
to use the existing systems, while still keeping them as independent components.

Therefore:

Structure the connecting middlewar e between these applications as a
message bus that allows them all to work together strictly using messaging.

A Message Bus is a combination of a common data model, a common command set, and
amessaging infrastructure to allow different systems to communicate through a “least
common denominator” set of interfaces.

The analogy here is to a communications bus in a computer system, which serves as the
focal point for communication between the CPU, main memory, and peripherals. Just as
in the hardware analogy, there are a number of pieces that come together to form the

message bus:

?  Common communication infrastructure — Just as the physical pins and wires of a
PCI bus provide a common, well-known physical infrastructure for aPC, a
common infrastructure must serve the same purpose in a message bus.
Commonly, aMOM like MQ Series is chosen to serve as the physical
communications infrastructure since they are cross-platform, cross-language, and
available for most systems. The infrastructure may include Message Router
capabilities to facilitate the correct routing of messages from system to system.
Another common option is to use Publish-Subscribe to facilitate sending
messages to all receivers.

? Adapters — The different systems must find a way to interface with the message
bus. Most commonly, thisis done with commercial or custom Message
Trandlators that can handle things like invoking CICS transactions with the
proper parameters, or representing the general data structures flowing on the bus
in the specific and particular way they should be represented inside each system.
This aso requires a Canonical Data Format that all systems can agree on.

?  Common Command Structure — Just like PC architectures have a common set of
commands to represent the different operations possible on the physical bus (read
bytes from an address, write bytes to an address), there need to be common
commands that are understood by all the participants in the Messaging Bus. The
Command Message pattern illustrates how this feature works. Another common
implementation for this is the Data Type Channel, where a Message Router
makes an explicit decision as to how to route particular messages (like Purchase
Orders) to particular endpoints.

It is at the end that the analogy breaks down, since the level of the messages carried on
the bus are much more fine-grained than the “read/write” kinds of messages carried on a
physical bus.

In our EAI example, for instance, one instance of a command might be “Update an
Address’. The following diagram illustrates how this would work:
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Figure22: Message Bus
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Here we have a single new GUI that only knows about the Message Bus — it is entirely
unaware of the complexities of idiosyncrasies of the underlying systems. The Busis
responsible for routing Command messages to the proper underlying systems. In some
cases, the best way to handle the Command messages is to build an Adapter to the system
that interprets the Command and then communicates with the system in away it
understands (invoking a CICS transaction, for instance, or calling a C++ API). In other
cases, it may be possible to build the Command-processing logic directly into the existing

system as an additional way to invoke current logic.
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6. Conclusions

In this pattern language, we' ve “opened a window” (so to speak) on the world of
enterprise messaging. We' ve examined why enterprise messaging is useful, how it helps
developers build systems that communicate reliably and asynchronously, and we' ve
examined some architectural styles for building systems using enterprise messaging.
However, we' ve barely scratched the surface of this topic — many more patterns exist in
this space, and our journey to discover them has only begun.
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